FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

BATTERY PACK REMOVAL RELEASE LEVER REMOVAL

_Battery Pack

e
Release lever

Turn the computer upside down as shown
Slide the battery release lever in the dir=ction of the 4 Remove the release lever in the direction of the arrow.

arrow.
Pullthe battery pack slightly forward and It
it out

OPTIONAL PCMCIA CARD REMOVAL SELECTABLE BAY REMOVAL

Releass.
lever

- Selectable
Eject button / Selsctable bay module
PC card bay lock
1. Pull aut the efect button of the PC card to be rsmaved 1. Tum the computer upside down.
2. Press fhe efect button to pop the PC card out 2. Push the Selectable bay lock to unlock position.
4 Grasp the PC card and rsmave it 3. Slids the release lever in the direcion of the arrow:
4 Pull aut the Selectable bay module in the direction
of the arrow.

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

FDD DISASSEMBLY

Release lever

1. Push both releasee levers and take the FDD out

Brackets

{ M25x2
Flathead brass Flathsad

Black connector  Flexible

screws cover cable

Brass screws
5. Remove black connector cover and disconnect the
flexible cable from the FDD.
6. Remove four M2.5 flat head brass screws and detach
the two brackets.
NOTE: The brackets, flexible cable, black connector cover
and the flathead screws are all s parats parts
Please DO NOT retum them to TOSHIBA

Lower shisld cover

screws

Flexible cable cover

2.Remave five M2xd silver screws and one M2x6 sitver
screw.
3.Remave lower shield cover and the flexible cable

cov
4. Liftthe FDD aut from the up per frame

CD-ROM DRIVE DISASSEMBLY

Selectable bay cover CD-ROM

Remove the Selectable bay cover.

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

CD-ROM DRIVE DISASSEMBLY EXPANSION MEMORY REMOVAL

“Expansion
memory

Connectar cover
screws screws
1. Tum the computer upside down

2. Remove four M2x3 black screws and the frame, 2. Remove three M23 black screws and remove the

3 Remove two M2 silver screws. memory cover. .

4 Removs the spacer, connector, and the connector 3. Push the memory clips outward and pul the expansion
cover from the CD-ROM driv memory out of the connector on a 45 degree angle

HDD REMOVAL

HDD slot cover Y/ M2.5x26 black screw White vinyl grip HDD pack
Latthes

1 Turnthe computer upsids down.
2/Remove one M2.5x2.6 black s

3. Bush the cover by the doted latches unti  cicks.
4.Remove theHDD slot cover by sliding it in the drection

1. Remove the HDD pack by puling on the white vinyl
grip.

of the arrow.

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

HDD REMOVAL

>
Y W34 flat he'ad brass serews HDD bracket
M3xiflathsadibrassiscraws: 3. Remove two M3xd flat head brass screws sscuring
1. Place the HDD on a flat surface and remove four the HDD and taks the HDD bracket out
4. Removz the HDD connector

M3x4 flat head brass s crews

2. Remove the top cover NOTE: The HDD connector, top cover, screws and the

bracket are all separate parts. Please DO NOT
return thern to TOSHIBA.

KEYBOARD REMOVAL KEYBOARD REMOVAL

2,504 brass Keyboald holde
screw oard

4.Lift the Keyboard outand lay it on the
palm rest. Be careful not to apply pressure on the
1. Open the display pane! keyboard cable
5. Disconnect the Keyboard cable from PJ550 on the

Keyl
Keyboald retainer

2. Unlatch the Keyboard holder at the four points
and remove it system board and rmove the Keyboard
3.Remove one M2.5x4 brass screw and remove the

keyboard ret;

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

TOP COVER REMOVAL

screws

M25x4 black screws

1. Turn the computer upside down and remove the following

screws

3 M2.5x4 black s crews from the battery slot

2 M2.5%6 black s crews from the battery slot

-2 M2.5x4 black s crews from the selectable bay

-2 M2.5x6 black s crews from the selectable bay

-3 M2.5x4 black s crews from the back of the computer.
2. Turn the computer fight side up and open the display.

N
A aaen

Display
assembly

SM25x18
brass screws
3. Remavs four M2.5x18 brass screws and ane M2.54
brass s,
4 D\s:nnnecnhe LED cable from PJ570 on the system

5. Rl aes nin laches securing the top coverand the
display assambly: two latches on the lft side, four
on the front and three latches on the right si

6. Lift up the top cover.

RTC AND BACKUP BATTERY REMOVAL

Backup battery

RTC battery

Open the RTC and backup battery cover.
Disconnect the RTC battery cable from PJ500
Disconnect th backup battery cable from PJ910.
Lift outthe RTC and backup battery.

MODEM BOARD REMOVAL

M25X4
Brass
screws

~Connector

1. Open the display panel
2. Remove two M2.5x4 brass screws and the connector

3. Release the two latches holding the modem cover in
the direction of the arrow.

4 Remove one screws securing the modem board

5. Pull the modem board out of the connector

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

CONNECTOR BOARD REMOVAL HEAT SINK REMOVAL

M25x6
black
screws

1. Remove three M2.5x4 brass screws
2. Remove two cable clamps in the direction of the arrow. 1. Tum the computer upsids down and rsmove three
3. Remove one M2.5x4 brass screw holding the M2.556 black s crews

connector board
4. Disconnect the Connector board,

HEAT SINK REMOVAL

L0 modut_eLinvetrcabi Moder board tray M2x12 bigss serews  M2516 bigss screws

M2.5 xdy
brass
screws

holder assembly

2. Turn the computer right side up, rsmove one M2.5%6
brass screw sscuring Lshaped holder assembly and
It the holder in the direction of the

Disconnect the following :zh\esﬁnm the system board
~FL inverter board cable from P.

L6 e cable o P00 L1 e et sinic ik arson
4 Remove one M2.5x6 screw holding the modem board tray.
5. Remove modem board tray in the direction of the arrow

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

FAN REMOVAL CPU BOARD REMOVAL

1 Disconnect e an cable rorha system bosrd
2 Remove the fan in the direction of the 1. Remove the CPU board out of the system board
NOTE. The coolng fan s 3 asparte part Flease 00 NOT

return the FAN to TOSHIBA

SYSTEM BOARD REMOVAL

E e |

System board

screws

PC slot

cover

FDD
M2.556 Black screws Connaclarcover
3.Remove two M2546 black screws sscuring
1. Tum the computer upside down and remove three PC card slot cover and lft out the cover
M2.5x6 black screws. 4 Remove the M25x6 brass screw securing the system

2. Turn the computer right side up board
Remove three hexscrews sscuring the insulator and

system board

Lift out the front end of the system board in the

direction of the arrow.

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION

8000 Series

SYSTEM BOARD REMOVAL

Hings coverassy.  M25x4 black screws
7. Remove three M2.5x4 hlzckscrews and remove
the hinge cover assembl
NOTE: The hinge cover zssemh\y is a separate part
Please DO NOT return this part to TOSHIBA

SPEAKERS REMOVAL

MIExd screws

1. Turn the top cover upside down

2. Disconnectthe speaker cables from PJ60.

3 Remove two M2.5x4 brass screws securing the
speaker holder

3 Remove the speaker holders

4. Lift out the speakers

MEMBRANE SWITCH REMOVAL

PO Membrane switch

1. Turn the top cover upside down.

2. Disconnect the membrane switch cable from PJ50.

3 Remove one M2.5x4 brass screw securing
mermbrane swic)

4.Lift out the membrane switch from the top cover

LED BOARD REMOVAL

LED board M25x4 brass screw

1 Tumthe top cover upsids dow
2 Removs ohe M5k scrow securing LED board
3 Liftout the LED board

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

12.1 TFT DISPLAY MASK REMOVAL FL INVERTER AND 12.1TFT LCD REMOVAL

o M2.556 brass screws
-

HV cable
q

locations

Display

FLinvérter cable

task seals

Remove two plastic seals at th bottom comers of the
display assembly using a pair of fined tipped twee zers
Remove two M2.5)6 brass screws

1, R o M2 B A o g L it

toleft then disconnect the

There are 21 latches securing the display mask
Carefully insert your fingers between the mask and the
LCD panel and pry open the latches starting from the
top six latches. to the five latches on the right

and left sides, &nding with the five bottom latches.

2.6 ully rotate the FL inverter board ou, from right
ert,

er cable from

Cn and the HV cable from Ct
3. Remove four M2.5x6 brass screws securing the

module.
4. Carefully rotate the LCD module from right to left
of the LD cover.

5. Disconnectthe LCD cable from the LCD module and
remave the LCD from th computer

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENT.

Tecra"
8000 Series

13.3 TFT DISPLAY MASK REMOVAL

CeS

MaskSeals

1. Remove two mask seals at the bottom corners of the
display assembly using a pair of fins-tipp ed tweezers

2. Remove two M2 5x6 brass screws

3. There are 22 latches sscuring the display mask
Carefully insert your fingers betwszn the mask and the
LCD pane| and pry open the latche s starting from the
top six latches. to the five latches on the right
and left sides, ending with the six bottom latches

FL INVERTER AND 13.3 TFT LCD REMOVAL

M2536
brass brass scrsws
screws

Rcale; 2 S8 branat {Elinvarariontd

Removs taps and one M2)5 brass screw sscuring

FL inverter by

2. Carefully it up he FL inverter board and
disconnect th FL inverter cable fram CN1 and
the HV cable from CN2

3. Remove four M2.5%6 brass s crews s=curing the
LCD module

4. Carefully rotate the LCD module from right to lsft

cover

5 Disconnect the LCD cable from the LCD module and

remave the LCD from the computer

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Tecra"

8000 Series

14.1 TFT DISPLAY MASK REMOVAL FL INVERTER AND 14.1 TFT LCD REMOVAL

oL N o I N W

Latch

Flinverfercabls  M2iSbrass  FLinverter board
Mask seals screw
1. Remove two mask s eals atthe bottorm comers of the 1. Remove one M2x5 brass screw securing FL inverter
display assembly using a pair of fine-tipped tweezers board
2 Remove two M2546 brass s cr 2. Carefully iftup the FL inverter board and
3. There are 22 latches securing the display mask disconnect the FL inverter cable from CN1 and
Carefully insert your fingers between the mask and the the HV cable from CN2
y open the latches starting from the 3.Remove four mask seals to expose four screws

top six latches to the five latches on the right securing the LCD module
and left sides, ending with the six bottom latches Remove four M2X5 brass screws securing the
LCD module
Carefully rotate the LCD module from right to left
of the LCD cover
Disconnect the LCD cable from the LCD module and
remove the LCD from the computer

TOSHIBA

Tough Enough for Today’s World.



